(ARSI

PART - A
ACCOUNTANCY (40 Score)
Score Score
I. Answer the following questions from 1 L 1 aymch 5 cusomieg aggro tanaymda,
to 5. Each carries 1 score. (5%1=5) pEmo agyejmje. | aapod allme. (5x1=5)
1) What does a credit balance of income 1) abasmarles Ddao @MW
and expenditure account show at the aggEnIBle)d @oseroadeel ey
. end of the year ? fedaldla] agmilem myaljenmy ?
a) Loss b) Surplus a) mago b) dlae
¢) Deficit d) Gross Profit c) @adl d) eaam eneo
2) Which of the following items will 2) moswammideamaaid e geniod
not appear in the Balance Sheet of a suseidminiglad gleqjsomm gmo
club ? ﬂ@ﬁ?
a) Subscription received for the
current year a) madrudaso aidla) cudlmosl)
b) Subscription received for the next b) megEmuUdscTmengs oyden)b cud
year oy
¢) Subscription outstanding during ’
the year ¢) madcudauem @glyfle aidimosl)

d) Insurance prepaid d) m;ﬂ’bﬁqﬁha_y EBayONBMY @y

3) Which of the following would 3) am amaglom mundaimarlen
not be found in a profit and loss aldadi g acna el dinle@asd
appropriation account of a partnership @26 eSO LMo

agyer ?

firm ?

a) Interest on Capital a) ayewmendia maeym aelle

b) Interest on Drawings b) oy aefke
¢) Interest {'171 loan by partner to 0) mogles Aol el
partners *ap

d) agodwes migo
d) Partner’s Salary
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Score
4) At the time of dissolution of firm

assets other than cash are credited
to realisation account with

a) Market value

b) Book value

¢) As the agreed amount among the
partners

d) Cost value or market value
whichever is low

5) Amount due to out going partner is
shown in the Balance Sheet as his

a) L@oi]it}'
c) Capital

b) Asset
d) Loan

IL. Answer any three questions from 6 to 9,
Each carries 2 score. (3%2=6)

6) A partnership firm closes its books
of accounts on 31* December every
year. A partner Gokul withdrew
Rs. 20,000 on 30" June 2018.
Calculate interest on drawings

@ 10% p.a.

7) Record necessary Journal entries for
the following unrecorded assets and
liabilities in the books of the firm at
the time of dissolution. _
a) There was an old computer in the
firm which had been written off
completely in the books. This was
sold for Rs. 3,000

b) Payment of unrecorded liabilities
of Rs. 3,200.

Score
4) en) wm:IglEm quodaiMe @RS
alSIBOUIRD &0 a¥lee.wies T
&R dewasecmam aennene
sl aaigpmmel ol
woomarsilelsen.
a) aflaend mieljo
b) enyssfles ale
¢) asmodlend manflad woremwow ayelyo
d) aflae ayeleas auosrdlo aleicws
QIMITEMD §IO)E

5) wmoglom muosaimemld olamge
Allodlay amogles mmaomes e
enpeidmindidlad aowoges

@Rl Boenflenrm),
a) eruowym b) oy
c) mewmo d) cuswing

IL. 6 aymad 9 URIas a.aajemsln agaoelelyo

2 ag)epewiles moime DOMOODE) D). BIGMI
amilenjo 2 aapod allao. (3%2=6)
6) cbato cma0j0 AWlmosd 3lay

BN BB @1 Daose)m amy
uodaimeniion aesosflwow OREAT)

2018 ggyerd 3005 20,000 gt adlabouel)
sapmecuslad 10% andasile, dloadia
ool asellus EREMBEIHEN S,

7) @es.gpaysoh efleyaocdlay 80 alm:og]em)
madaltm oml 6 o ®IOYajowym
DSalISIHBIOS emdemad ag) (L)
BYOO0SE) S, _

a) @ooerIeTElous 6L o yBemaoci)
Gl ®adw 6y aivw emy g
3,000 agugy aflsdenyom),

b) EREUBLSIEmMOETD 6} eniawym
afdenomoni 3,200 @Jn mmﬂﬁ&rm&_
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Score
8) dlaneiyeninmid avasreme dosasiam
atd anaevemEie mafless agemeloge
2 cuymyamio @y)flanid..

9) avereead, andl, sndeyagymioud 3:2: 1 agym
anmiaomErdlod  elsemayemd  allme
OB 806l &8061. U ImER
e MR’ afledleaeao and
wjo enfirnjo eBMaysmKd 3:2 agm
mpmialomemled aflme acusnad
mymaila . ecumies emnalaflows G080
phenmagn N1Slae) e,

I 10 yymad 12 cupnmjpg aasasmglod alm
aemmlello 2 agepamln’ pemao
ag)Pimje. assmamilmie 3 eapod allme.

(2x3=6)

Score
8) Point out any two differences
between revaluation account and
realisation account,

9) Sanjay, Hari and Bindhu are partners
sharing profits in the ratio of 3:2:1
Sanjay retires and Hari and Bindhu
decided to share future profit in
the ratio of 3:2. Calculate gaining
ratio.

L. Answer any two questions Trom 10 to 12.
Each carries 3 score, (2x3=6)

10) Rajan, Roy and Salim are partners

in a firm sharing profits in the 10) 2:2:1 agym aemnmenidd eneo alme
ratio of 2:2:1 Salim’s share in the EUSHM MusSaImaTflen aiB:ode-aoem
profit has been guaranteed by Rajan maEmmio eoowiwje uellaye. mosxmio enowd
and Roy to be a minimum sum of @ 2yt 10,000 qos eneaiadoo
Rs. 10,000. Profits for the year ended meldai o] mabeymmy, 2018 amoda) 3 1oy
31st March 2018 was Rs. 42,000, quodamenfend eose 42,000 aj e
Divide profit among the Partners. @ogle:id madled enelladioe £.2:95m
Record necessary journal entries. el ezdem agydled mxyooss.

11) Anu, Binu and Cinu are partners in 11) 3:2:1agm aomieiomemlad aine
a firm sharing profits in the ratio of Megemid alime cugim asoglegoem
3:2:1 Binu decided to retire from @MU G'ﬁ'm&fl'aou milmyage. snflay
the firm. The goodwill of the firm quadamandfiad aflor’ afledlended aliay
is valued at Rs. 60,000 and the @o0il.ay, mmmmmvﬂm@umgnﬁn_ﬂgglmr@
remaining partners Anu and Cinu aeljo 60,000 mpniwsens mm&"\ﬂi‘f&
continue to share profits in the ratio afledlenelimiecasio “JE:’:’E"‘“’@ tH
of 3:1. Write necessary journal g mm&”’m“‘f‘ﬂm dBMay e D
entries in the books of the firm. llo gy, i apoou] enumue

azdenal )il )oY,
12) Write any three ground on which a 12) esosafl pamoal esone oy ausogam

partnership firm is dissolved by court
order.

muodaimo alldlal allsymafloyas ayor
MROUCTOOETBUD gy eI,



Score

IV. Answer any two questions from 13 to
15. Each carries 5 score. (2x5=10)

13) From the following information draft
a Receipt and Payment Account of
Navayugam Club for the year ending
31* December 2018.

Cash balance as on 1* January 2018 30,000
Bank overdraft balance as on 1*

January 2018. 12,000
Subscription from members

(Rs. 4,000 relate to 2017) 92,000
Locker rent 8,000
Rent from club hall 7,000
Honorarium to Secretary 12,000

Electricity charges (Rs. 500 for 2017) 6,40{]
Purchase of furniture

(On 1#Nov. 2018) 14,000
Petty cash expenses 3,000
News paper 2,000
Entrance fee 8,000
Bank balance on

31% December 2018 17,000

14) Compute the value of goodwill at
4 years purchase of the average profit
last 5 years. The profit or loss of the

last five years were as follows :

Year
tudntic

Profit/loss
21380/Mayo

2014 2015

20,000 32,000 25,000 (loss) 15,000

Score

IV. 13 qoad]5 cuenwigs aanejemgled

mlmmjo ag®mm1eljo @& eneeR@mIm’

9EMDO ag) ). avemamilmye 5 eapad

allae. (2%5=10)

13) moey mamialeniom alunemalas

apdmuosmnamild mau@noe gmiad
2018 alimuosrud 31 cuaxtoomyerfloa
somflaly @ eudoad @D HEYI6TE
RBI000SN)S:.

2018 syudl 1eal #yatiedd cAesiaida] 30,000
2018 mepeudl 10l sruoms @RUSldal

afesialda] 12,000
audlavosuy (4,000 qpu 2017
UBaueEnEaSaT) 92,000
22106 CUISE 8,000
@) anodh (oSS, 7,000
amie:scles malalw aemendiwe 12,000
aenaY®m ool
(500 agot 201 Toreimosnd) 6,400
andenilayd uosTiiwey
(2018 mauocsruid 1er) 14,000
e ipfles oo QL1810 80 3,000
mymd ealn b 2,000
aleRm adlmd ) 8,000

2018 culloruosrud 3 1eel enuoes cllesfiaiidal 17,000

14) @ocumom eeeml Udnuacm Ganovd
eneodan moel aidat abeoimi @rd)
crunommodsl cyouiaie] essrmia Ndlaanie.

2016 2017 2018
28,000

(ngyo)
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. Score

15) Raju and Biju are equal pariners in
a partnership firm. They decided to
dissolve the business due to some
personal problems. On the date
of winding up the firm have
Rs. 3,40,000 worth assets
and Rs. 1,20,000 liabilitics. Assets
realised Rs. 3,60,000 and liabilities
are paid in full for Rs. 1,10,000.
Realisation expenses amounted to Rs.
10,000 met by partner Biju. Prepare
realisation account of the firm.

V. Answer the following questions which
carries 5 score. (1x5=5)

16. Vinod, Muneer and Shaji are partners
in a firm. Shaji decided to retire
from the firm. Shaji had capital of
Rs. 50,000. The firm’s general
reserve shows Rs. 30,000. Profit
and Loss Account shows a debit
balance of Rs. 18,000. On effecting
revaluation of revaluation of assets
and liabilities a revaluation loss is
estimated Rs. 15,000 total goodwill
of the firm is valued at Rs. 48,000.
Can you help the partners to prepare
Shaji’s capital account. Shaji is given
1/3 share of profit.

VI. Answer any one question from 17 to 18
8 score. (1x8=8)

17. Ramesh and Ali are partners in a firm
sharing profit and losses in the ratio
of 2:1. Their balance sheet A%nan
31% March 2018 is as belo _

Liabilities 9:(}00
Sundry Creditors '

Outstanding Liabilities 4,800

. General Reserve 24,000

Capital Account :

. Ramesh 1,00,000

Ali 80,000

3,04,800

RSN TSR
Score
15) moegaye snflegn o ey atesoglamm muodaim
anloel mjely almodle-g0sm. (Ml lnaw
@onemamastd mndnime allalol)
afiso migmoni.ay. o ldajalsd dmenid
mosatmewia’ 3,40,000 ejuayes
apmylae 1,20,000 gpiaes sniouwimao
poa. mpqled 3,60,000 ajaig’
allddeaeaie souwmees ajdapmon
@b posnelar 1,10,000 gl madoyssyo
g, dwassemazmood] euMLayS
aaseiaimomicd 10,000 eyl al@ogeow
enflezy mabeymmy. mwoaimeted dw
ASRITTIAHD @RAEDENE MIQONIDE)D:.

V. moev momldlenymm ealaymmlo gomte
ng)ymie. apemal sapad. (1x5=5)
16. afemonye myoflop oo almose
gom mundalmaemidd aflomie asosll afledl
@0 alioymonila). alledeadd ol
aogfles mewm adadlaidq] 50,000
melwyeng. quosalmnelad enmed wmo
30,000 myaswoend. loloadly @of saomi
mnseoend 18,000 ap ewenlig aflssial
o] @xvenfeaymy, aamfl eniowjmentd afmd
mpeyfidgpee msenflwegjocd 15,000
@)l Glougeljlaud Mmadio &Hoemileanm).
crunon nereiiadd appalad cyausald 48,000
ayetwosn 1/3 eneniadiomnyss avosfwies
P i mRBEDaE MO,
VI. 17 ajomad 18 cuenw)gs ¢.oleyemglod
a@emleljo SECRETIT QWO Af)FIW]d.
8 aopod. (1x8=8)
17. 2:1 agym @y omedieh ainemage flme
cuguen meacs, mrell gl asodle.ains
2018 moda] 3 1o suoeidbo) el moere

EIaIdleaTy ;
Assets 3
Cash in hand 12,800
Cash at Bank 44,000
Sundry debtors 60,000
Stock of goods 50,000
Furniture 38,000
Land and Building 1,00,000
3,04,800

SME 49 Accountancy with AFS 6/15



Seore
The partners have agreed to take
Mr. George as a partner for 1/5"
share with eftect from 14 April 2018
on the following terms ;

1) George shall bring Rs. 50,000
towards his capital and
Rs. 30,000 as the amount of
goodwill.

2) Halfofthe amountofgoodwillis
withdraw by the old partners.

3) The value of stock should be
increased by Rs. 2,500 and
furniture should be depreciated
by 10%.

4) Reserve for bad and doubtful
debts should be provided at
10% of the debtors.

5) The value of Land and building

Score

201 Sogadiad Loy l/Sonuacued gy
@R0HOM Qljaminswsas smodallem
@I JOWOT AREUNMGIHIS, g
auoansmaflsekest g ssaolia eegomy

1) amods’ opeiwmaom 50,000
gl myalled mjewow
30,000 o ShdaROIGET.

2) amodsl e@omagainm mywahdd
mpeapes aleyell of asmoglo
allddcuelesymy,

3) equoesioq aa 2,500 oy
cudaleneo nodeniLg ol 10%
SEURENTO GOAISITMET,

4) elsesamiol 0% epsoalad
aavamlsgendial’ sadd ayawmocd
afgoonilap,

3) e mpad enfiddadlood apmd ayely
afldemwo msanflwagjod 20%

should be appreciated by 20%. cudavmal sesiegson.

Prepare : 1) dlauseipeunsiod maesrems

1) Revaluation accouti. 2) ey Iged mooeren

2) Capital accounts 1) et gl
P 3) apoflw enoel q

3) The Balance Sheet after SR

admission

18) On March 31* 2018, the Receipts
and Payment Account of Ashraya

18) mpeyw csodigenfidd agom ouoseim

mdle 2018 modal 3 lear omflalg

Charitable Institution is given ] ““‘Jm‘ﬁ anoavend monnmmaTi
below : desgmy,
Receipts Amount Payments Amount
Balance B/d 5,200  Salaries 42,000
Subscriptions 67.000 Computer 18,000
Life Membership fee 42,000 Stationery 12,000
Donation 30,000 Rent 24,000
Profit from entertainment 11.800 Repair 8,000
Interest 6,000 Honorarium 18,000
Donation for building 10,000 Balance ¢/d 50,000
1,72,000 1,72,000
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Score

You are required to prepare an
Income and Expenditure account
and Balance Sheet as on 31*March,
2018 after considering the following

adjustments.

a) On March 31* 2018 salary
outstanding Rs. 3,600 and one
month rent of Rs. 2,000 paid in

advance.

b) It was decided to treat 1/3% of
the amount received on account

of donation as income.

c) 50% Life membership fee to be
capitalised.

d) Provide depreciation (@ 10% for
building and 5% for books.

In the beginning of the year the
club owned building Rs. 20,000.
Furniture Rs. 30,000 and Books
Rs. 20,000

Score

2018 moday 3lee cusamadlos
gcfteno RN aggat(@ad @oderoens
eeldm’ adlg agomios maevan
By alloucsmges eslauoonamial
WGIOOIBEYE.

a) 2018 modg] 3oy vorug @yl
3,600 ayniwp (11056, myideynoed
natedwar 2,000 myeiwe e,

b) ey meaxummes ayrieerT
InKLbETEI CLImmCTMTS et e,

€) eeead eamidaly| adoges 50%
aeILNOIEdandlaan.

d) endadatouiad10% ape enpeegedes
5% o eaxaimomo onmiyd..

cruamimnile: cubattososailed cunoaim
anflol’ moevg oW @Rqflaid e
enflddafiors 20,000 mjal, andenflol
30,000 s enpoegecd 20,000 qyas.



(TR
PART - B

ANALYSIS OF FINANCIAL STATEMENTS (40 Score)

Score

I. Answer the following questions from1 -3,

Each carries one score, (3x1=3)

1) The excess price received over
the par value of shares, should be
credited to

a) Calls in Advance Account
b) Share Capital Account
c) Reserve Capital Account

d) Securities Premium Account

2) A debenture holder gets

a) Dividend
b) Voting right in General Body
¢) Ownership of the company
d) Interest in fixed rate
3) A financial tool in which each item
in the statement is expressed as

a percentage of the aggregate is
called

a) Trend Analysis

b) Common si@stalements
c) Ratio analysis

d) Comparative statement

Score

L MMWMMI ayomad 3 cuewe

WHA €0 10E)ETRUDSE DEUTIDEDP)M)d.
aoaromiimie 1 eapod aliae. (3x1=3)

1) @saodwyes aysualeg padwonl
aidlsaym mid: aR@ @aH V6]
aelaa6m ey a.aigymma ?

a)  @ocdo snab mraupaboy @resriens
b) @anwd @ palged eeenvend
c) dlovdal dyonlge @ossroens

d) emdaeyddim o Ndlwoe moesrend

2) an) @solm psog eidenymae
@RETT,

a) enaafadmo

b) mmoad esnoafiaiial enogaisoue
C) @muilwes Osamom

d) doflu=ie dlessdlenas aiellow

3) cpondlon &cnd mmeEmE0
YO HWOS amaamailnaslad

ttngoailesymm avamuemfle: allveseim
o soufleosm’
a) esodad @emoefimfimi
b) eceoasdesmms equOo
c) eogani mamoelimimy

d) @owndidlal spygeadd

SME 49 Accountancy with AFS 9/15



Score

IL. Answer any three questions from 4-7,
Each carries 2 score, (3x2=6)

4) Write any two purpose for which
securities premium can be used as

per Section 78 of the Companies
Act.

5) Write any two limitations of
financial statements.

6) From the fulluwing information,
calculate cash flows from financing

activities,
Ist April, 31st March,
2017 2018
Long term  4,00,000 5,00,000
loans Ei

During the year company repaid a
loan of Rs. 2,00,000.

7) Roni limited purchased machinery
of the book value of Rs, 2,00,000
from another company and agreed
to make payment of purchase
consideration by issuing 2000, 10%
debentures of 100 each. Record
Journal entries,

Score

II. 4o 7 cwen aaeymmgad agem
wleyo ayomi agepaniay HAMOODRD] &,
aanoamimyoe 2 ampod allae. (3%2=6)

4) emum doasea 78-o0 QUdhlal)
ld@onoe eme ol (lalwe
Salswouflenoaymm e paguamR@d

) Fim] .

3) wmeony alleeains agemelego
V6NS BIODIRYD gy )m)ce.

6) mere Oogenfidlenmm aflucsmayes
meslorunomenmiidd adimoddofses (micui
emmemglad mlmmymes o jondl 61

fueal sy fdlenys,.

a@inlled 1, aadaf 31,
2017 2018

dibnpisoe Qg 4,00,000 5,00,000

e cudadeeilal @ med) 2,00,000 wpa
aRgome, afldl.gls.afisiens:

7) aooe elldlgas, 2,00,000 [
aes U™ WIDrLomESdnid 06 R,
@murilaidd oflemye 100 Ot aysuafl
elwgs 2000 esaimend 10%
mlo e lulaoeimse) maber

QdeEmRy™y. g0 salosledd emdemnad
ag) (Sl CREUEIQISIOT) .
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AT

Score

III. Answer any three questions from 8-11.

Each carries 3 score.

8)

9)

10)

(3%x3=9)

Describe the Provisions of Law

relating to calls in advance as per
Companies Act,

How will you disclose the following
items in the Balance Sheet of a

company ? First one is done for
you.

Score
L 8 mymad 11 cuen eolnasnglad agemelalo

@O ST QOO @amorrim)o
3 aompadd. (3x3=9)

8) @0 mye ayidaed cuosmEEMIo0
Sl (lwnle:onnes 2Igemad
aflcudlenid.

9) oy emudlwyes enseldmd’ aflgled
MOBY alOWLM EMEBas ag)sudam
inedbuiloflen@an’ lyEmamoEn ).
(wmeye@m 0o §RIaNREM@IE made]
whlcdleayomny).

Asset/Equity | Under the Head

It
s and Liabilities
Tangible Assets Assets Fixed Assets
Trade Payables

Ry Inventories

Reserves and Surplus

Calculate trade receivable turnover
ratio and average collection

period.
Revenue from operations 3,00,000

Trade debtors ~ 1,00,000

10) @moey @midlesymaled mos)
cusomardflad eisow dladlcusnich aseni

acud snsam e BRAIOR B:assidh

aflflaue eesmaome:.
lcubammenaslad

aflormyes cumymamo 3,00,000
pawsnierdmi 1,00,000
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Score

11) Classify the following cash in flows
as operating activities, investing
activities and financing activities.

First one is done for you.

T T

Score

11) moey @mildlenym DSaIISI&ag
aoqjaodiens @eald], deaigiers
agladdl, adlmommilend” @glalid]
agrismam @eodlidlenis:. EREIHTD
mmo ga2anmemmdw] o @bl

aleayomy,

No. Activity Nature of Activity
1. Cash receipts from disposal of fixed assets Investing activity
2. Cash proceedings from issue of shares
3 Dividend received from investments
4, Cash receipts from sale of goods
5. Cash proceedings from long term loan from bank

IV.  Answer the following questions which

IV. moey maniclenymm 2a19ajarmlm’

carries 4 score, (1xd4=4)

12) Match the following :

pomeanwim)e. 4 empod, (1x4=4)

12) eaigjoaid) aaidanys., S

A

B

a. Redeemable debentures

No specific rate of interest

b. Unsecured debentures

Transfer by way of delivery

"| c. Bearer debentures

No specific charge on assets

d. Zero coupon rate debentures

Repayable after 5 specific period
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Score
V. Answer the questions 13 and 14. Each

carries 5 score. (2x5=10)

13) Prepare a common size balance
shn::et of Nirvan Company Ltd. by
using the following information.

- Score
V. 13, 14 caloe)smdes gomeaawim]e.

goamommilmje. 5 ampod allme. (2x5=10)

13) moey marideam allussmges sl
cupomaenilad afldcuend smucdl eflalg

e aes0menid eexnmi eruaaibriady
PO B>.
Particulars Note No. | March 31, 2017 | March 31, 2018
L. Equity and liabilities
1. Share holders fund
a. Share Capital 20,00,000 25,00,000
b. Reserves and
Surplus - - -7,00,000 9,00,000
2. Non-current liabilities i
Long term loans 8,00,000 8,00,000
3. Current liabilities
Accounts payable 5,00,000 7,00,000
Total 40,00,000 49,00,000
II. Assets :
1. Non current assets
a. Fixed assets
b. Tangible assets 20,00,000 27,00,000
c. Intangible assets Goodwill 15,00,000 15,00,000
2. Current Assets inventories 5,00,000 7,00,000
Total 40,00,000 49,00,000

14) Compute cash from operations from
the following information.

14) maey mmilcleaym oflooesd
oalewovila] & )oadllano @3 a0nudd

{fyda:m?ﬁnilﬂacgﬁ.
Particulars March 31, 2017 March 31, 2018
Inventories 10,000 16,000
Prepaid expenses 4,000 326?0%
Trade receivables 23,.000 24,000
Other current assets 20,000 : :mo
Provision for bad debts 2,000 3,000
ol o 260 200
Trade payables ) y
i . basto 4,000
Profit for the year 2017-18 is 2017-18 coomuerdiiescudatio Ao
Rs. 20,000 after providing for souiaomo srsueqSIETl@E auatio
rungatmeday 20,000 et elneayend.

depreciation Rs. 4,000..
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VI. Answer any onc question from 15-16.

8 score.

Score

1%8=8
( ) 8 sapodd.

(U

Score

VI 15 pymad 16 cueo aa1a)smglm ageomslel)c
80} 6.2193)EIIT QEDEODFYMIS.

(1x8=8)

15) Krishna Lid. invited applications for
the issue of 10,000 equity shares of
Rs. 10 cach at a premium of Rs. 2
per share, payable as follows :
On application Rs. 2
On allotment Rs. 5 (including
premium)
On first call Rs. 3
On final call Rs. 2.

Applications were received for
12,000 shares and allotment was
made on a pro-rata basis. Money
received on application was
adjusted towards the amount due

on allotment.

Rahim to whom 300 shares were
allotted failed to pay the ﬁnal call
money. These shares were forfeited.
These shares were re-issued to
John at Rs. 9 per share. Give
journal entries in the books of the

company.

15) @yofem eflgigay’ 10 apo) afleiwyes

10,000 cuowoem goandletd 2 ool
Ndlwo mlossl@ Iy alO@LM
(000 AN,

g flesaaud memdl — 2 @jel
@censend ool — 5 @pl(lefidiwo
D@6 Hs)

apayeoudae — 3 ajal

arcUImeETn doudaend — 2 mlal

12,000 soan@)aides’ @nealdy
elElen)em®io Elaldcn50 @mos]
uoamnediat EreasHmnal msam)Esmio
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16) Following informatjon is given by a 16) 2018 2032] 316b @wcumomenm
company from its books o e a0}, e:muoilaymal SUMWERS muomy
ason 31 March, 2018, @l AflouneTnd aoer madeymy,

_'_'_‘—'—-—n_.___‘__
Revenue from Operations e
Cost of revenue from operation 3,00,000

Total current assets (Including inventories of Rs.1,00,000)|  1,60,000

Current liabilities ; Lo0,0m
Calculate : @06 O BsmyaSenys:.
a) Current ratio a) &0 e0anypP
b) Liquid ratio b) ellejas ensau
c) Gross profit ratio . €) awomisinlondld ananyp

d) Inventory turnover ratio d) exdeceddd esed ascud angayyp
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